Task 1. Solve the tests. Please note that the number of correct answers may be more than one. Mark the correct answer using bold text selection.

1. Functions of lipids are:

1) Energy

2) Structural
3) Nutrition 

4) Thermal insulation
5)  Protection

6) Mechanical protection of internal organs
7) Transport

2. Compositions of the plasma lipoproteins are:
1) Triacylglycerol
2) Protein
3) Phospholipids
4) Cholesterol
5) Glycerol
3. Disorders of transport fat and moving it into the tissue is:

1) Hyperlipemia
2) Hyperketonemia
3) Hyperuricemia 
4) Hyperacetonemia
5) Hypercholesterolemia
4. Products of intermediate metabolism of higher fatty acids are:

1) Waxes
2) Acetone

3) Acetoacetic acid

4) (-hydroxybutyric acid
5) Cholesterol
5. The state of presence of excess fat in feces:
1) Lipidorrhea
2) Ketonemia 
3) Cholesterinemia
4) Steatorrhea
6. The normal level of body mass index is:

1) 16-18,5

2) 18,5-25

3) 25-30

4) 30-35

5) 35-40

6) more 40

7. Types of hyperlipemia are:

1) Hormonal
2) Alimentary
3) Hereditary
4) Neurogenic
5) Retentional
6) Transport
8. Normally amount of ketone bodies in the blood is:

1) 0,01-0,02 g/l
2) 0,02-0,04 g/l
3) 0,03-0,05 g/l
4) 0,05-0,06 g/l
9.  Classification of obesity by mechanism of development:

1) Alimentary
2) Hypertrophic
3) Cerebral
4) Endocrine
5) Hyperplastic

6) Hereditary
10. The causes of transport hyperlipemia are: 
1) Atherosclerosis
2) Nephrosis
3) Diabetes mellitus
4) Starvation
5) Overeating fats
6) Stress
11. Alimentary hyperlipemia passes its maximum within: 
1) 1-2 h
2) 2-3 h
3) 4-6 h
4) 7-9 h
12. Complications of obesity are:

1) Diabetes
2) Hypertension
3) Pneumonia
4) Cancer pancreas
5) Infertility
6) Osteoarthritis
13. Body mass index is calculated on the formula:

1) BMI = weight (кg) / height (sm)

2) BMI = weight (g) / height (m)

3) BMI = weight (кg) / height (m2)
4) BMI = weight (g) / height (sm2)

14. Accumulation of lipid outside the cells of adipose tissue is:

1) lipid infiltration

2) fatty infiltration

3) fatty dystrophia

4) ateromatosis
5) lipoma
15. Obesity is _____________________________________________

__________________________________________________________________________________________________________________________________________________________________________________________

Task 2. 
Calculate own body mass index. Make an estimate of it. Complete the table. 
	Index
	Dates

	Weight 
	

	Height
	

	BMI
	

	Conclusion
	


Task 3. Give answers to this task
A 40-year-old patient complains of progression increasing body weight, pain in legs, fast weakness during move, lack of energy, fatigue, apathy, the sense of air insufficient, palpitation and pain in heart when in motion. 

We know from the medical history that a year ago, the patient suffered a cranio-cerebral injury, which led to a sudden increase in appetite. This patient was not able to control his food craving.

Оbjective findings: body weight is 120 kg, height is 178 cm. The patient has chestiness. Subcutaneous fat is excessively developed, mainly in the waist. Blood pressure is 150/95 mm Hg. Heart rate is 90 beats/min. Breath rate per minute is 18. The fasting blood glucose is 9 mmol/L. The glucose tolerance is reduced.

1. Determine the fatty disturbance observed in the patient.

2. What was the cause of this condition?
3. Give a classification of this condition according to its development mechanism, its appearance, its body weight gain.

4. Calculate the BMI of the patient and evaluate it.

5. What the possible complications does this patient have?
